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The method of measurement of concrete | 4.
work specifies cubic content shall be

worked out to the nearest

(1) 0-1m3
(2) 0-01m3
(3) 0-:001 m3
(4) 1-0m3

Excavation exceeding 15 m in width as
well as 10 m2 on plan but not exceeding
30 c¢m in depth shall be described as

(1) Surface excavation
(2)  Surface dressing
(3) Excavation in trenches C 5)
N D
(4) Cutting \&&
2

&
In Mass Haul diagram @@s diagram),

the term haul represe@ﬁ'e

(1)  Sum of the product of each load by

its distance

(2) Distance at any time from the
working face of an excavation to the | g

tip end of the embankment

(3) Distance from the centre of gravity
of a cutting to that of tipped

material

(4)

Horizontal distance through which
the load is shifted

(3-A)

In the method of measurement of
earthwork in filling in foundation trench,
the filling shall be measured and __
of deduction will be made for settlement
to arrive at the net quantities, in the case
where quantity is measured in loose

stacks or in carts or lorries.

Fill in the blank choosing the correct

answer from the options given below :

(1) 10%

(2) ..:1
(3) 25%’\\ )
(4) 2

O
Specification for corrugated galvanized

5%

iron roofing specifies that the roof slope
shall not be laid flatter than if
not otherwise specially mentioned.

(1) 1lin1
(2)
3)

(4)

1in 2
1in 3

l1in4

The multiplying factor for measurement
of painting on collapsible door is

(D
(2)
3
4)

1-2 (Each side)
0-8 (All over)
1-5 (All over)

1 (Each side)
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IS 1200, 3 HFT Qe BRCRH eﬁéﬁdeﬁ;ﬁ

(1) 0-1sq. m ]EEIFT 3TR)

(2)  0-01 sq. m DYCEIFT TR

(3)  0-001 sq. m DYEEIFT TR

(4)  1-0 sq. m Q]CEIFT 3TR)

30° 3RETY, JEIODTY, ATER BANTY,
3008003, DCOITITYNOE  ©@QE VT
Bemnw) (D = Hoewd us) B 3Y Vs
e0n,~Feorne S@IWED ©0T. )

(1) 2x072D
»
2) 2x027D
( ) X \k‘&\}
(8) 2x042D
~0
(4) 2x024D (\

{&;\“Q
IROBO A0 tﬁ%@@éﬁo 5@55&
3 m x 3 m 23ernE 100 mm TIEEY,
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RREWEFTT  WIeTorIm  ATO0ED  23eONS
jeku

(1) 4 WBeonsd

(2) 44 Weonsd
(3) 2-6 3coned

(4) 26 Weenwd

(4-A)
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11.
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N 33 FPNT IO IO
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As per IS 1200, in the measurement of
brickwork, no deductions shall be made

for

(1) Opening up to 0-1 sq. m in area
(2)  Opening up to 0-01 sq. m in area
(3)  Opening up to 0-001 sq. m in area
(4) Opening up to 10 sq. m in area

If a bar is cranked at both ends at an
angle of 30°, then the extra length
required when compared to a straight bar
is (D = centre to centre distance between

the top and bottom steel.)

(1) 2x072D

(2) 2x027D Q
3) 2x042D ”\(2):

(4 2x024D Q

The number of cement bags required in
making plane cement concrete flooring in
an area of size 3 m x 3 m and 100 mm
thick using cement concrete of mix
1:3:61s

(1) 4 Bags

(2) 44 Bags
(3) 2-6 Bags
(4) 26 Bags

G-A)

11.

O
D

12.

10.

Sensitivity analysis is a study of
(D)
(2)
3)

Comparison of profit and loss
Comparison of assets and liabilities

Change in output due to change in
input

Economics of cost and benefits of
the project

(4)

In PERT analysis, the time estimates of

activities and probability of their

occurrence follow

(1) N@l distribution curve
@ o
@@ Beta distribution curve

P . . .
sson’s distribution curve

?\>~(4) None of the above

If D is the duration, ES and EF are the
earliest start time and earliest finish
time, LS and LF are the latest start time
and latest finish time, then the following
relation(s) hold(s) good :

A. EF=ES+D
B. LS=LF-D
C. D=EF-ES

Select the code for the correct answer
from the options given below :

(1) A and C only
(2)
(3)
(4)

A and B only
C only
A, Band C
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“28 S type” Zo0det¥ BT mdocﬁés@
0-8 m?. 2,0 TS DT’ Fo0d)ees O,

16. 2,07 E’O@ragj DY, ATHRO em?ééoja
B[R 30°C [ NOF FRoOT LVFIOD
BRGR) 45°C. VRS ITET e

DJE B, A0 FTTeRR)
55 ot Wesarh3d. deboer deorw | IURIODED?
Wend: WYB BT, FB Wt () (1) 25°C
50080 3 (m?) BOTend DFjeres, (2) 35°C
Q&u? (3) 45°C
1) 078 (4) BT CINP)TR B
(2) 049
(3) 073 17. [0QD°-WAR, B8 53 By Telnt wobd
@ 0dd RO
WNOIRT WoES BB z@ém 15 20NN “%m > 3533 1PBorEd
23 3 BeEIn U e.dreomd L) © il
202 14 aéiraecée@r{@dé D00 EﬁE’OmFdéd (2@%&‘3@@@3;@ z@%mr{e}o
4,
g; 2 (3§') (4) B3RO QI
@ 8 \&&} 18. ADo30 Se3Fen AR (URBAD)
BT @oNTY), WOB 0.0, ©ROTIOD DT, WSTY, EeedATI
BRORED IF) 030, z%@;@ eORT. 303> BoOR[R) FEATRTT QT
womd BV W T DWAENPN0Z C D
0% 8.8 (2.0T3¢ N DBOIOL
BRT) 8ez3Bozn 30 kN/m SR, BT,
¢ L90NTS ﬁ@@w T0QCTBIR) B E
0i58 A F
Tension
W 77T A
%4m /|l/ 4m /|I/ 8 m /|I/
1) 4
(1) 92:8kN @ 5
(2) 23-186 kN
(3) 174kN @ 6
(4) 6966 kN 4) 7

(6-A)
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The capacity of a “28 S type” concrete
mixer is 0-8 m3. For mixing one cubic
metre of concrete, the quantity of cement
required is 55 bags. In order to avoid
fractional usage of cement bags, the
volume of concrete (m3) to be mixed per
batch will be

(1) 078
(2) 0-49
3) 073
(4) 044

Degree of static indeterminacy of a rigid
jointed plane frame having 15 members,
3 reaction components and 14 joints is

1 2
2) 3
3) 6
4) 8

The Influence Line Diagram (ILD

force in a truss member is shown in the
figure. If a Uniformly Distf@b Load
(UDL) of intensity of 30 k}lég onger than
the span traverses, @C’che maximum

compression in the member is

0-58
| Tension

/{44m /|I/ 4m /|I/ 8m /|I/

(1) 92:8kN
(2) 23-186 kN
(3) 17-4kN
(4) 6966 kN

16. At a certain station, the mean of the
average temperature is 30°C and mean of
the maximum daily temperature is
45°C. What is the airport reference

temperature ?

(1) 25°C
(2) 35°C
(3) 45°C

(4) None of the above

17. Muller-Breslau Principle for influence

line is applicable for
(1) contin\"l;}@’us beams and frames
(2) al frames

ﬁxed beam

{:) ; All of the above
:}18. The degree of kinematic indeterminacy of
a plane structure shown in the figure

neglecting axial strain, is

C D
B E
A F

(1)
(2)
3

<N O Ot W

(4)

(7-A)
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A. BoroE8 SR8, 24. QOB AT Tedlnsd  60°  FReITE
ed
B. D033 35068. SeRTS. ATB AT de&ﬁmfabq
ed

C. 2030309 2R,

33 R0 CIRR)TY / ) R0 ?

QeRTOH ejoj%r{%fq pelevirln wgd@f\
#oéeéwm‘p% :

(1) ASR3

(2) ARO3B IR,

(3) AR C 3N
@ C®ng,
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(8-A)

BREBONFOD N> TesBod &z 600 m
A, DEPFrIRT Wy WR WG,
SREICRNG  Ened  werd  Jesln
RoL0RATOZ BRBETON (T RYY)
(D
(2)
(3)
(4)

80-4, 600-0
600-0, 80-4
600-0, 39-89
49-89, 300-0



19.

20.

21.

269

A of
capacity, 1 m%s has filters of dimensions

water treatment plant
6 m x 10 m. Loading rate to the filters is
120 m?®/day/m2. When two of the filters
are out of service for backwashing, the

loading rate (in m3/day/m?) is

(1) 144
(2) 244
(3) 154
(4) 164

The BODj of a wastewater sample is

200 mg/litre at 20°C. The value of the
reaction constant is K = 0-2 day! with
base ‘€’. The ultimate BOD of the sample
is

(1) 126 mg/litre

(2) 544 mg/litre ’
(3) 146 mg/litre \£~<:}
(4) 316 mg/litre Y

Septic tank is a fZ‘;Q
A. settling tank. é

B. digestion tank.

C. aeration tank.

Which of the above is/are correct ?

Select the code for the correct answer
from the options given below :

22,

23.

O
D

24.

(1) Aonly
(2) A and Bonly
(3) A and C only
(4) Conly

(9-A)

The process of turning the telescope about
the vertical axis in horizontal plane is

known as
(D)
(2)
3)
4)

transiting
reversing
plunging

swinging

If the Re u&d Level (R.L.) and Bench
Mark (BQ) is 100-00 m, the backsight is
1-2 and the foresight is 1-870 m, the

8{2}0? the forward station is

1§ 99-345 m
(2) 100-345m
(3)

(4)

100655 m

101-870 m

Two straight lines intersect at an angle of
60°. The radius of a curve joining the two
straight lines is 600 m. The length of long

chord and mid-ordinates, in metres,

respectively of the curve are
(1)
(2)
3)
(4)

80-4, 600-0
600-0, 80-4
600-0, 39-89

49-89, 300-0
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26.

27. ol FFIOR deowcdo TICH wET
S0 SSARNTTS.

(1) BRONS Zones =2y 80208 et
(2) 0208 Zene R0 AZ.IT

(3) DRIT I3 RoTT ey

(4) T WTIZ, [ B2ee

28. WPTY Epe0TITOZ ‘A’ 2300OTY JTID
o3 7

2 m

ALRRRRRRNRNY

1m

1m

& 45°
N
14-14 kN-m

10 kN-
(3) a@\i
% WSy, IS 456-2000, T
TRJATOTIN  Qoedony 95, 3@3:;9
WEE) TOFORTO 8¢ ‘A’ =0ZY Fe 550
ez em%é?bod WORRPFD =RBTON, LN
TBFTR)

(D
(2)

-m

-

g

2
O
”

0-48d

0-53d
(3) 042d
(4) 044d

30. 2,000 WOWEBR ST, w&am@aﬁ
WO WBY ATITITR  E20TIVWINTD
BoowoN 4 QINH, 11 QI[N R 12
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(1) 9 a3k

(2) 10 OINH
(3) 11 3INd
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A venturimeter, having a diameter of
7-5 cm at the throat and 15 cm at the
enlarged end, is installed in a horizontal
pipeline of 15 cm diameter. The pipe
carries an incompressible fluid at a
steady rate of 30 litres per second. The
difference of pressure head measured in
terms of the moving fluid in between the
enlarged end and the throat of the
venturimeter is observed to be 2:45 m.
Taking the acceleration due to gravity as
9-81 m/s?, the coefficient of discharge of
the venturimeter (correct up to two places
of decimal) is

(1) 090
(2) 095
(3) 085
(4) 074

Two footings, one circular and the other
square, are founded on the surface of
purely cohesionless soil. The diameter
the circular footing is same as thatyfthe
side of the square footing.lzg\sﬁﬁo of

their ultimate bearing capacifies*is

(1) 3/4 >
(2) 4/3 é
3) 10

4) 13

In a tree the cambium layer is situated

between

(1) the outer bark and inner bark
(2) the inner bark and sap wood
(3) the sap wood and heart wood
(4) the pith and heart wood

(11-A)

28.

29
O
D

30.

<4

For the structure shown in the figure, the
fixed end moment at support ‘A’ is

4 2m
IA
g
—
1m
=
@ 45°
D
(1) 1414 kN-m
(2) 10 kN-
N

3) zer\
4) (\:&’Nm

s per the stress block defined in
IS 456-2000, the limiting depth of neutral
axis in a flexural member having effective
depth ‘d’ reinforced with Fe 550 grade
steel in tension side is

(1) 048d
(2) 053d
3) 042d
(4) 044d
The optimistic, most likely and

pessimistic estimates for an activity are
4 days, 11 days and 12 days respectively.
The expected completion time of this
activity is

(1)
(2)
(3)
(4)

9 days

10 days
11 days
12 days
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BT°.2.2. BROT @& Ae9d ©no 300 mm
T03) TOFPEIBTO B¥Y 400 mm [T
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2
V2
9) X2
(2) 3

1

3 3

(4)
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(1) ==0R Fgeoieodnt dReaRBT -
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BoBRe0R AROWPRIRRIT
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3)

(4)

45-27 kN
117-52 kN
56-:21 kN
129-14 kN

(D)
(2)
3
(4)

36. IS 800-2007, 3 ZC Sexon® IIUR
RoLORRTOZ  YVEROT  AWFE oK eBS
WONRY, AoETRT  wRWIY AT

Q0eT2ITT0

180
250
330
145

(D
(2)
3
(4)

0T CBRRTR B9,

(12-A)
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A reinforced cement concrete beam
section has a size of 300 mm width and
400 mm effective depth, the grade of
concrete used is M20 and grade of steel is
Fe 415. If the ultimate bending moment
of 150 kN-m acts at the section, the beam

has to be designed as

(1) Singly reinforced beam
(2) Doubly reinforced beam
(3) Beam cannot be designed
(4) Balanced beam

According to IS 456-2000, the minimum
grade of concrete with maximum free
water to cement ratio of 0-5 and minimum

cement content of 300 kg/m3 is

(1) M20
D
(2) M30 Q
(3) M25 0&
QY
(4) M35 \

N
A heavy elastic ball d@m the ceiling
of a room, and after\rebounding once
from the floor, reaches a height equal to

three-fourth that of The

coefficient of restitution is

V3

ceiling.

(D

2
J2
2 -
@
1

3 3

None of the above

(4)

34.

35.

O

36. According

What is the theme
Environment Day 2017 ?

of the World

(1)

Connecting people to Nature — in
the city and on the land from poles
to equator

(2)

Seven Billion Dreams, one planet,
consume with care

3

Green Economy : Are you a part of
it

(4)

Forests : Nature at your service

Accordilé\;}’ls 800-2007, the nominal
she deacity of M20 bolt of grade 4-6
W{E} one shear plane passing through bolt

ank and one shear plane passing

through threaded portion is

(1) 45-27kN

(2) 117-52 kN

(3) 56-:21 kN

(4) 12914 kN

to IS 800-2007, the
slenderness ratio of lacing bars in a
built up steel compression member shall
not exceed

(1) 180
(2) 250
(3) 330
(4) 145

(13-A)
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-2

3 T VB AOYWBTIN TORRT, 0N
g3 & El 5 2 3 p)

DTARRVRORT &oert
NGE 303
@ )
VT R0
Q -0

5,083 Zoz3

-5

) 40.

(D
(2)
(3)

BoBTITE

[ae)

(4) (%5%) OROTPTIHI0Z

#oucﬁ@ TR AITY,, TR TROT %éd

ﬁowedaﬁ% &390 DO m’owz% 41
BROTA), TWONESRONOR)TD.
(1) =08

(2) &or (%ee;o)

O

(3 3 Y

G
N
SeeT® {(\(’{}
50 mm 5590 Seadodd o@gd BRI
QIS 75 mm VR, VWE JOW/R, TOORT
Doeddrmen gondwe F R wemeRn
BB DIT F T wEE &oed modoE,
3BT WROT  TOWOTRENNT ST,
RBROTT NN MOTIE, FeoT T RopwT
TOTOBRENIT SFHBAT STRIOWO)
(1)
(2)
(3)
(4)

(4)

42,

416-67 F/1
449-67 F/1
316:67 F/1
492-2 F/1

(14-A)

@
R'e

300 mm ©NY ToNw TOFTOROTO &9
500 mm YIVD SCNTITITT BRVT LPNG
88,07 WORFFSID 1346 mm? [P
TROBI), M20 76w 5080t 0ds 0=
Fe 415 00339 M TROETY 0IR0RT.
B BN TIRNR

(1) 225 mm
@)
®)
4)
e Sovdngmans Seoner Rey
50

>

2:22 mm
135 mm
240 m

@ B[S

(3) Twewoen®

(4) R.W.ST.Q. d)asdﬁ@

RTFOT MRS I d ©T3. s
TPERT® RWSD WOTI Qg) (Broow &z
YRXFOIR) I, =

nd?
1 .
(D 32
nd?
2 .
(2) 61
nd?

3) =
® 128

nd?

(4) 551
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The splice plate for the steel column is

generally designed as

(1) Short column

(2) Long column

(3) Intermediate column

(4) Based on slenderness ratio

In the conjugate beam method, the fixed
support in actual beam is considered as

support in the conjugate beam.

(1) Free

(2) Hinge
(3) Fixed
(4) Roller

Q
(QQ}

A right-angled trianglew \base 50 mm
and height 75 mm is placed with its base
horizontal, subjected to shear force of F. If
moment of inertia is ‘I’ about the axis
passing through centroid parallel to the

base, then the shear stress at the axis

passing through the centroid is

(1) 416:67 F/1
(2) 449-67F/1
(3) 316:67 F/1
(4) 4922 F/N1

O
D

(15-A)

41.

e

42,

40. A rectangular beam section of 300 mm

width and 500 mm effective depth has
tensile reinforcement of 1346 mm?2. The
beam M is constructed using M20 grade
concrete and Fe 415 steel. Calculate the

neutral axis.
(D)
(2)
3)
(4)

225 mm
2:22 mm
135 mm
240 mm

&

bﬁe’%psf is

able system for pretensioned

Hoyer
(2)
(3)
(4)

Freyssinet
Roebling
BBRYV system

The polar moment of inertia of a circular
lamina of diameter d is, I, =

d4
1 I
(1D 39
d4
9 T
) 64
nd?

3) =
® 128

nd?

4) =
@ 254



43. DTTFTN .80, MO FRNOTE DOOIR =
6000 SeT* STIQ 80% LN FRTGHZOI
D) VeTOWOCDTD. 0T 9N
QeTWOOD SeBB030 25% ST, aT0FT
230BONTE), LT BTISTY,
Q0TI WBNALTIT).

600

1200
2400
4800

(D)
(2)
3
(4)

44. PIT WIHT DHITRY, AW, (ToR)
w88 BRBoTR __ 80, BeodR)T003,
TOMWE, ABOIT TROIBRTR), Erioded

(1) e;sz%wﬁe@?cse TOWF

(2) &0
&°
(3) 3BReOT° ,.Q
>
(4) mi e, é

45. PUWFT QPSTY, AW DTYRTY,
VT3 OB WNOT RTIR) 039

T3R8 faw%ﬁ @gsomm’wwda.

(1)
(2)
3
4)

1,4
2,4
3,4
5,4

269

46. éamg;bé sjaeﬁﬁemoé éz&zg e (md)

DV (?,Seﬁ) Maed)owmﬁmq
Bo9BRYYR LIC00NT IINTRNGE IR ?
(1) ©To30°
@ A e
(3) %éde@ 3ReOT*
(4) @mi@}ﬁoaﬁ

47. 3R Fewor  aQ@ode  &.F 2.8

&

(FpBF wBy oS wHITRBTY)
200U NTIOD W, Feaden B3 FINT
OB ADFH, BP0 BRE 2onEE ?
1 A o (SDozeoEs)
(2) o (Sesdecd)
(3) (AT (Soweu/TZ)
é:gb AT (whnees)
48 L9 105 3y Ead AT DT AoRdrm
WWST [eE pH  BPYAL  3womeNn
73 08 8:5 SN, VO ITIO pH R ?
(PH 3 OeR00° 330D Iesimodr
PR
(1) 655
(2) 757
(3) 812
4) 923

49. 2,000 INTT wST02g, 100000 03) DO
T00R0  WeRF BT 160 @e/ée?ﬁ/@é@d
B33ROTR 9 m x 5 m @F30D ebgizj
QOT ALY LTI, BOQETOIL) LITMOTT.
E{opyite) m;;a-’w T3 4500 O¢/o/a0e2

Q0T LONA.
1 1
2 2
3 4
4) 5

(16 —A)
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The gross commanded area for a
distributary is 6000 hectares, 80% of
which is culturable irrigable. The
intensity of irrigation for Kharif season is
25%. The area to be irrigated in Kharif

seasonis ___ hectares.
(1) 600

(2) 1200

(3) 2400

(4) 4800

Removal of soluble organic chemicals is
possible by the addition of to the
biological mixed liquor of an activated

sludge process.

’

(1) activated carbon E Q
)
L ¥

(2) alum

O\

(3) chlorine "QQ
\
(4) strong colour g{{?}'

Courbon’s method of design of bridge is
applicable when the ratio of span width is

between __and
1 1,4
2 2,4
3 3,4
(4) 5,4

46. Which one of the following bearings are
forgiving in that they can tolerate loads
and movements exceeding the design
values ?

(1) Rocker
(2) Slide plate
(3) Steel roller

(4) Elastomeric

47. Which of the systems are particularly
suited for construction of pre-stressed
concrete superstructure of long span
bridges without the use of staging from
below ?

1) Sega\exat’al

(2) 1 ar
(3) <\_§tage
(;4 Sidewall

8.% The measured pH values of incoming and
outgoing water at a water treatment
plant are 7-3 and 8-5 respectively. What is
the average pH of water, assuming linear
variation of pH with time ?

(1) 655
(2) 1757
(3 812
4) 923

49. A city has a population of 100000 with an
average rate of demand of 160 litres per
head per day. What is the actual number
of filters required if the size of each filter
is 9 m x 5 m ? Assume the average
filtration rate as 4500 litres per hour per

m?2,

(D
(2)
3
4)

QU = N =

(17-A)
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5 OFNY TOTHBEIOD 08T, 20°C I,
10% Towre =RCocH TD,00R3T doéa
@033 DO (@@eﬁ% @ei)us) nsbd 8omon
50 mg/9e 3 4-0 mg/Oent <ac§§f, e9T3e

BRTOR 5 O3NS BOD €30 mg/de I

DXTITT ?
(1) 50
(2) 100
(3) 150
(4) 200
2000 RS0 BERET, wWeoon® N 45°E
T3, 8 Fpor A edorT)

(1) 135

(2) 45

3) 315

4) 225

QUTTTED BT 15 m AW TS QU 4 m QT
Q0T FROTE RO BPeTY 10 TY,
1 3NTw 3¢ - YOTY, F3s evTy
Q¢ NOB §08 FRNO 2TLIeBD.
(1) 15

(2) 20

¢
4) 30 <
QUTBTATRYR WYL v wEee
SESEAORT I c I < S R
3R NYR), REB  Mws  ADoBTTY
=oedS Epdhmen BRNENSS,

08 B33 wsd Spouielolaton msm&m
BRI mméd
(1) Oz

(2) QSBREBSLIS To O
@) e P

(3) TeRoDeRI®

(4) @ﬁ%ﬂeﬁv

54. NI WRFT ROTPFAYR, TOW TR0
8T &% 500 m, Ferey 100 kmph
QTR W TGP TTY

0-220

0-089
(3) 0-057
(4) 0-0108

55. TOW WOTRITO 00N o} WBY VoW
VOFBORITO AR o, N YID
WROTDTBR), ST,

(1) Nadé@@%ébﬁoja AT, F

2) ué@amoﬁa 23RE M08

(3)

(9" =533 >3

s

B3 FPNT C30: 20T WO @ozﬁda’%

(D)
(2)

P ot egm g, domuEny edoy

9B 03T WeDRLIBNTY, & ISocNTY
305y ROBNTD, Tpear TRRPRIeTNIZT ?
(1) Qﬁ%wé)w (zé@smw%)

(2)
(3)
(4)

ST
B50ey (Fesd)
Jes® (zi’)oda)

57. TETS @O TOBRY, QOWROROOT
TR BOINYEY, RGN QSMIRY

BROOTIVOZBR) IFNIYNTS, 03NS ?
n

(2) B|E&E
(3)
(4) Qa0

(18 —A)
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If initial Dissolved Oxygen (DO) and final
DO after 5 days incubation at 20°C in
1-:0% dilution sample are 50 mg/LL and
4-0 mg/L respectively, what is 5-day BOD
of the same sample in mg/L ?

(1) 50

(2) 100
(3) 150
(4) 200

If the reduced bearing of a line is N 45° E,
then its whole circle bearing is

(1) 135
(2) 45

(3) 315
(4) 225

Keeping the instrument height as 1:5 m,
length of staff 4 m, the slope of,

ground as 1 in 10, the sight o?s&;%

down-slope, must be less than o) m.
(1) 15 ;\‘

N
0

2 20 Oy
3) 25 Qx
4 30

Most total station instruments measure
angles by means of of extremely
digital etched
rotating glass cylinders or discs within

precise bar-codes on

the instrument.

(1) Refraction

(2) Electro-optical scanning
(3) Radiation

(4) Digitization

(19-A)

54.

55.

57.

For mixed traffic conditions, rate of

superelevation for horizontal highway

curve of radius 500 m and a speed of
100 kmph is

(1) 0220
(2) 0089
(3) 0-057
(4) 0-0108

The ratio of the horizontal -effective
stress, G’h to the vertical effective stress,

o', is termed as
(1) Saféﬁég;ing Capacity
(2) (@? ficient of lateral earth pressure

( :Qx)as}riction

?&43 Optimum ratio

:%%. Which one of the following is a point in

time when certain conditions have been
fulfilled, such as the start or completion
of one or more activities ?

(D)
(2)
3
4)

Activity
Network
Event

Node

Which one of the following does have
some limitations when applied to detailed
engineering design work during early
stages of a project ?

(1) CPM

(2) PERT
(3)
(4)

Dummy activity

Estimate
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g, TeBod  FTT & 1000 m
SR0QR 0T3¢ IWTT @ 1heR030E

500 TY 2,000 (1) Q30T DOCH GNTE,

FeoB,mY, 180° 3T AT, DOLIY0F R0
NS AN, 2T 1 m BB WO
FEARETAYL 211 888 x 1000 m3
SNTOR LR T R) WINROBT.

(1) 245

(2) 255

(3) 265

(4) 275
BeaRed DBER
RVWOSNT

DBTRTD NOTIOT = 8

WIPONB MOFT0T = 2:8

T5n IS RORODY, TIWTREME 692
330000 = 10%

475 mm IS w3ROHE, mdsﬁe&z&

=0£a), AeFTTO = T0%

uozﬁa Sed DoET TS d@o —afﬁf
(=) @080z éd;mﬂ g 88 02 ée
34:2 &N, IS sy
m%@aeﬁ BNFTORCRRITY

(1) SP-SM

(2) SW-SM

(3) SP-SC

(4) SW-SC

otz HeRo VT YVTITTE
(1)  3odpedyes

(2) RrouReddeegEr

(8) WawraySees®

4) f 5 &

B B IPNT FOT03

o

(20— A)

Seo BPeCHY,

61.

62.

O
e

{\) FEAO3, 303

:} (mm) (gm)
0-06 6
0-05 20
0-03 15
0-015 5
0-004 4

QBTFBOIRNT BRTO SEFF AABRAVIT
(£208000QT)  FOXLCTWTOADTOTFER, O
©de Q0T PuwILom  W3TRRRT
TRTOMR BTIH B0

(1) T8 (JR@o) Momeos

(2) GERcEn®

(3) oS

(4 =303

50 gm & 2D 2WeNRT 5 MOZNY RO
SRTONYY B FENT WJeSod Oy
ed
ém@aew{%ﬁe B WIBRIDNT =03
100% B TOUBI), ATTRIT W=
z;z@ ©.30 cm RFTT B3 B0,

oS PIT WTeg, WoTZ 27, =YY
300363 aﬂ)é 1 x 106 kN sec/m2 gelate
RROL IFTE Q) BEANEO FoLICIL TN

BNV FOO0D
(1) 2 30otd 16 WR
(2) 5 P03 37 QWR
(3) 11 ot 55 1R

(4) 23 0o 50 JWOR



58. A portion of an embankment having a | 61 Ratio of unconfined compressive strength
uniform up-gradient 1 in 500 is circular Zf f:mlt)llll(ilisetélr::i];ie m:tle t%iszgr;(; t};?tgf
with radius 1000 m of the centre line. It content is known as
subtends 180° at the centre. If the height
of the bank is 1 m at the lower end, and (1) Plasticity index
side slopes 2 : 1, the earth work involved (9)  Thixot
is x 1000 mS. HOLoPY
(1) 245 (3) Sensitivity
@) 255 (4)  Activity
3) 265
4) 275

62. 50 gm of gwen dried soil of five sizes

59. Following results are obtained from shown 4™ the table is taken for

particle size analysis : hydro r analysis and 1000 cc of

i d and filled i j

Uniformity coefficient = 8 s@zu;;iegﬁ?are anc Hiedin ajar

Coefficient of curvature = 2-8 p\>§.? — '

Percentage of soil passing through 75u IS {;? Particle size | Weight

sieve = 10% (::} (mm) (gm)

Percentage of soil passing ti\rg'@ 0-06 6

4-75 mm IS sieve = 70% o\ 0-05 20

If liquid limit and plastic limit for the soil 0-03 15

are 38% and 34-2% respectr@y, the soil 0-015 5

can be classified {’>p r IS soil 0-004 4

classification system é

(1) SP-SM If specific gravity of soil solids is 2:7 and

(2) SW-SM viscosity of soil water suspension is

(3) SP-SC 1 x 1078 kN sec/m?, the time required for

4) SW.SC all the particles to settle to the bottom of
the jar is

60. Bentonite clay is an example for (1)  2hr 16 min
(1) Kaolinite (2) 5 hr 37 min
(2) Montmorillonite
(3) Vermiculite (3) 11 hr 55 min
(4) Illite (4) 23 hr 50 min

269 (21-A)
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Qurteey FORDY, wWIRE  QURNYSY | 66. ISO 14012 QW BRNAFTETFS QeBGT
R BT 2e0IY IIF0 FTETeRD ? (1) HORT S TOLCVT QWTF S OB
PN -
1) Geded Sidomesen (2) wmmij &8 TOdCLTD FODFZWONY
< AR T
(2)  mRYed IVFYYRL 3R BRFLD (3) EA - Bo3oog8 o8 0decom IR,
(3) Qe0RoT  sTEB0H  BONFOI 3¢ [id
~oE (4) EA - 03T InFIHR BJING B
BB Hoocws T
(4)  TIDMLIVFOR) BB BRELO 67. ODROTS  sOT TRT AR, NG
o RonY wEon” BRTOI) VEBWORT B
3 BYNI %m@%ﬁ TOIT  WOFTmIRD 2000 FoR) FROWRNE  ©@odd
SPYIPFT  (B.0.2.) B[O  ATTRR BRTOSRNTOZT. Ne38eoddeoN CTROT S
o33 03y $0n REROCHT SRS mgwm S W S
SchoRTY ergae? @@ B
(1) m%oﬁme%éﬁ@o 2%(5 2EI
(2)  IReDHT® cdmemSnsd ‘?é, 412
(3)  FERe cdpewsnsd C{:’} 3 P 2752;]z
L
(@) §mOsRda 5 dneuinn Bam HoQS] e
T
2RI @ P=—7
4 .
TR Swess ST (FwREes [y
A06ddes (EE08) O P = wgom @20
o é E = BR3 43m@8800 SRR
1 P= 97NT I =730% é)mﬁd R BTG _
o p_ 2T L = Aol At | Zomerbombd 6o
%0 68. Toad Q ARwFIR VOF Fenw N, @
3) p= FNT Qe deardoNds wFF ARwFINIT
60 DOFR Sersy
4) P:4?T 1) N,
T
(2) Ngv/2
QY ;:
(3) 2/ N
N = rpm 3€ Sen 308y T 030 G008 @ N

(22 -A)



63.

64.

65.

269

Why are bricks soaked in water before
using in brick masonry ?

(1) for removing dust

(2) for reducing air voids

(3) for preventing depletion of moisture
from water

(4) for reducing efflorescence

One of the following industries is not

necessary to prepare Environmental

Impact Assessment (EIA) report to get

clearance  from the  Ministry of
Environment and Forest :

(1) Thermal projects

(2)  Nuclear projects

(3) Hydro projects

(4)

¢
Industry involving investmersgbeg;}
than ¥ 5 crores 9\
&

Power transmitted by s@t in watts is
given by the expressio

1) P- 60
2nNT
2 P-= 27NT
60
3) P= 4nNT
60
4 P- 60
47NT
Where :

N = speed in rpm and T is torque

66.

67.

O
D

68.

?\(3)

ISO 14012 provides guidance on

(1) Qualification criteria for
environmental auditor

(2) Management of Environmental
Audit Programs

(3 EA - General Principles of

Environmental Auditing
(4) EA - Auditing of Environmental

Management Systems

Euler’s crippling load formula gives
buckling load of long columns that is the
ultimate load a column can take.
Mathematically Euler’s formula can be
expressed as

(\}Q} 2Kl

( P=

QZZZ’ 4172

212Kl
L2

472E1
L2

P=

4) P=

Where

P = Buckling load

E = Modulus of Elasticity of material

I = Moment of Inertia of column section

L = Equivalent/Effective length of column

For a discharge Q, the specific speed of
the pump is Ng. For half discharge with
the same head, the specific speed will be

(1) N

N V2
J2/ N

I

(2)

3)
(4)

(23-A)
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(D)

(2)

3

(4)

oo WPy Bonesodons
TOVFFEEFNLD 0BY BT LT NYD

AREBCODRT T a"ga@saé%)odadsﬁ‘mf
zgawréewmb

000 WP B ANY
BFOWFRCEON
DOCVBFTEI® cée:sﬁ dcéa

A n3OBCD By &y R @ddsm Jedn
facéd’, ST 3ea303d emcé@

(1)

(2)

3

(4)

nRA
90°

nRA
180°

nRA
270°

nRA
360°

TR BRDRF TorRT

RN PUBEFFOD TORRED, [0eTH
TN TWOHOTF  BOOIVT  FOFZIIT
ARTIT/R), WHBNRITT.

(1)
(2)
3)
(4)

ISO 14024
ISO 14015
ISO 14064
ISO 14060

A.

(1)

(2)

3

(4)

(D

(2)

3

(4)

(24 -A)

72. I9NI ée@%ﬁeﬁs% Joned

FRRBYOTT FHF0NYT BRTO FOI
3P[0 83698 03T LTI FIBT
RBEBO FeaSoR FoedTITT.
TPERTT  IHZ0NYT BRTO [
3RJ03) 30T @080°eIeBRwn) ROST
BFOBBRTZONT, VERTT.

33 B0eOT BePENSE) CINR)TO /39 RO ?
QeRTOT  BORYY, FOCIRT  LVBTEN

RoBeBTT0R :
1) ARng
(2) B=»3
(3) A& aielecto)
(4) \ARSROe e B ©nde we,
73. kY 39 I Ben V. agd =08

‘?gié%dm@s S & (s0ee307) R 5333,
- VO R (o) (BT wouks Poedkgoa
D7 I@nm) comd DeRdR AR,

vV
127R

74. TREOD BOORNFZY, B FINNT IR
QTRQRIT ?

v

3|2 Zls Z[< <
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Temporary hardness in water is caused
by

(1) Carbonates and bicarbonates of
calcium and magnesium

(2) Bicarbonates of sodium and
potassium

(3) Carbonates of  calcium and
potassium

(4) Dissolved carbon dioxide

If A is the angle of deflection of a simple
curve of radius R, then the length of the
curve is

1) TRA
90°
é
) nRA Q
180° \£~
(3 R4 <§§§
270° é&
@) nRA é{z}'
360°

Standard provides tool for
program to quantify, monitor and verify

green house gas emission.

”

(1) ISO 14024
(2) 1ISO 14015
(3) ISO 14064
(4) ISO 14060

(25-A)

O

72. Consider the following statements :

A. The intersection of the first and the
last ray in funicular diagram is on
the line of action of the resultant.

B. Intersection of first and last ray in
polar diagram gives the magnitude of
the resultant.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(D)
(2)

(3) BOthé%:ldB
(4) Neither A nor B

A only
B only

73. IfV @ie design speed in km/hr and R is

t’“}{%ra'dius (metre) of curve of a hill road,
superelevation (e) is given by which of
the following ratios ?

\%

m 127R

(2)

3

(4)

74. Volumetric strain is defined as which of

the following ?

1 N

(2)

3

5|2 %8 Z[< <

(4)
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L evdd soudsos nog avesedo,
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Wi3
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FO0T ?

(1)
(2)
3)

(4)  290% TR,

78. B8

NS CINPYTR), 03I
PRCPDIDT[Y,  W0TBRRYILD
ABRFFON WIBRNTT ?

aéqwadf &@gcgcéa
angaw #eiew

©&

(D)
(2)
3)

4) 29% 3;)}%532

79. Tacdeodd wIP neod BIT, I

éxaee)oeﬁ%?c&&m NG WORH Wie30T3
@ ,\ =S b3
(1) @% 205

(27 R0T® W03

VB oxe wes

o

(4) 033 woy

80. IS EReREETHRY, SpeRor' FoBTH

(26 —A)

ROIRT T3,03003) L9[IBTOTTIEYTO ?

A 20T 805 LRI SNTOTT

B. 2.3 W80 Y

C. ©0TJ0g wIBT DNOF

D. TOFRITO0 Wi BLY

QeRTT  BeNYY, FOCINT  LVBTHN
ROBEBTT0N :

(D
(2)
(3)
(4)

C,B,A, D
B,C,D, A
B,C,A, D
C,B,D, A
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76.
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Maximum deflection for a cantilever of

length L, carrying a load of W at its free

end is
W3
]_ _
L 2EI
L3
2 WL©
4E1
W3
3 —
3EI
W3
4) —
5EI

Which of the following conditions require

Geometric Surveying ?

(1)

Reconnaissance Survey

(2)  Survey of the Country

(3) Horizontal Curve Ranng

(4) Vertical Curve Ra :ggtb%

Which of the
workability enhancing agent ?

following is not a

(1) Plasticizer

(2) Air entraining agents
(8) Super plasticizer

(4) Silica fumes

(27 -A)

78.

79.

The most commonly used admixture to
accelerate the setting time of concrete is
which of the following ?

(D)
(2)
3)
(4)

Gypsum
Calcium chloride
Calcium sulphate

Silica fumes

The type of bond in which every other

course contains both headers and

shouldersss, called

1) é@g ish Bond

Flemish Bond

J
‘?‘63) Russian Bond

4
:>

80.

(4) Mixed Bond

In soil consolidation, what is the correct
sequence of processes which take place
after loading ?

A. Decrease in excess pore pressure

B. Increase in total stress

C. Development of excess pore pressure
D. Increase in effective stress

Select the code for the correct answer
from the options given below :

(1) C,B,AD
(2) B,C,D,A
3 B,C,A,D
4) C,B,D,A
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83.
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ROTOE, @9@5635 S50 ©NO b 93, HES H | 85. 83 F® ROTONTT T3 F3F 03YT0
ad. Gstdss BT ORPHIV G IR| () o
3T OFF uécéd "’ﬁm—ooé K ooda@oda
30, IR uR oG Rowogasy| (D) TEDeR Y
SR FHR> (3) 230703 s>
o P__1 (4) WROTTT

H JG-K

86. 55 Beodnyy Horesn

b
@ =vG-K A FRERFECATUFSIND WO
@) b 1 ROOI0Z MPINTY, V) FERERT,

H G-K PWFS® BB PROT IR
@) % B. .2ipes® 038 5305033

K ”G K BRE CRETNVEINR R.F° .2
Sece D oSy 3039 ]@1\
0339 03zN ne 3

24 ToUHTSA TNRTT ST Deds) TodRF o SRRy ©
B1 Q08N03 Q0D LeTIT QIR W FEF W
M 20% ‘?fi) TTOHR FRHE, WIRT.
(2) 15% G, C e mned mEs cowRRRBOY,
3) 10% a % 2s
4)  25% %} P 33 30003 Bewdnsd) cadnmm) 70 ?
BR0 VFY STONT JeFrod \éﬁ QeRTID  SODNYY  FOCRT  HVZTFTN
m@%@)@e é@ﬁﬁg @@ ‘Q ﬁogﬁ’éﬁ@p;"o .
BNRTSONT SV @Zﬁ.(\ f&d@od 1) ADD BRI
33 b, > >
(1) 2% 60B 5% é () Bo=Cang,
(2) 6% 00T 9% (3) ARC =R
(3) 10% 90T 12% (4) A, B=03)C
(4)  18% 00T 25% 87. CERRRYSS OIS moRFucH
RabY) TBRBRY, IOV, 0-36 T HVET RTFrDY,  wwrs  Seced @

DREB
m/s2 562
d)’ae)édem ?
1) 1-24
(2) 1-82
3) 224
(4 353

r{)mosdd& IV ADTN,
DOTIVTOIT A0V

(28 —A)

Pe3TR) NOFEN AWP WAV, VBN
ST ?

(1) %@ PHDOI (W)

(2) BeripERrs

(3) BRAOME

(4) BeMOTIRES
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The base width of an elementary profile of
a gravity dam of height H is b. The
specific gravity of the material of the dam
is G and uplift pressure coefficient is K.
The correct relationship for no tension at
the heel is given by

b 1
1
@) H G-K
(2) %z,/G—K
b 1
I
4 L__ 1
H K. G-K

A first class brick when immersed in cold
water for 24 hours should not absorb
water more than

85. Which one of the following is a component

of shield for tunnelling ?

(1) Trench Jack
(2) Linear Plate
(3)
(4)

Cutting edge
Stiffener

86. Consider the following statements :

A. Hydrofluorocarbons are organic
compounds containing hydrogen,
carbon and fluorine.

B. They _are commonly wused as
subs&\”t'éﬂ’:es for ozone depleting
S nces like chlorofluorocarbons

Cs) and are used in refrigerators
(z? and air-conditioners.

Ve

1) 20% They also don’t cause global
@  15% p {:) warming.
3) 10% {;} “ Which of the above statements are
4)  25% 0\\&* correct ?
.. O\ Select the code for the correct answer
M 1 t s{&
uaeipa axes  are - ag ed - on from the options given below :

percentage of net income

and it varies from E (’Z}.

property

(1) 2% to 5%
(2) 6% to 9%
(3) 10% to 12%
(4) 18% to 25%

What is the value of resultant retardation
in m/s2 when a longitudinal friction
coefficient of 0-36 is allowed for stopping
the vehicle on road ?

(1 124
(2 1-82
3 224
(4) 353

(D)
(2)
(3)
(4)

A and B only
B and C only
A and C only
A,Band C

87. During which of the following operating
conditions of an automobile is carbon
monoxide content in the exhaust gas the
minimum ?

(D
(2)
3

Idle running
Acceleration

Cruising

(4)

Deceleration

(29-A)
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89.
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J00TPT  PEIBAD Q07T IS WSRO,
TOTD TREMIT [IBY TooT VP30
LMY MOZNED 300N

(1) 6mm 5333 75 u

(2) 475 mm &3 75 1

(3) 75 p 23 4-75 mm

(4) 10 mm 03 4-75 mm

TINRYT 03ReRJC0Z LIOTSeo dﬂmfﬁo
@w) 0803 WNFFORT ?

(1) 4

(2) 5

3) 6

4) 7

L o3 3oes @mmq T°C odaa-b
aézsgvdzﬁ, 930 BeDCO) DFII NOTHOOT a
e:sﬁd% 20 odoone, d.mé%@m’ ‘E N33
RGeR R0og DBRFE 5580 T Ded

BO8 S, wasy NS B
YR IBEYS ? {Q

(1) é‘?}

(2)

oTE 2L
oT/L
(3) oT/E

(4) B3 OINRRP B
QTR 03RCTIOI :J’o@rj‘D TR, w083
éewaém@t(fg@w) BT WRBUWIVTD ?

(D
(2)
3
(4)

u%@q@wmém QTN
283 RO TN
380

-
by

2L NOBLUD QBN

-
By

€e3° NOZWR FRIOCITN

92. BoQry WANFRYT  wEEOID YN
CRR)T, ATLLABWBIT) ?

A 28 3R BTHOD BNZNT

B. ©8 3055 SRR00NR) WA

C. 32} (@@5) WBVHOD BNZNTI

D. 293 (@@é) @d@@jasoqm’d%é%d
QeRTT  BoRYY, FOCINT  LVBTHN
#oéeéd@p% :

(1) AR B IR,

(2) A R3D =T,

3 BRI g

@) gé}ss D =ng

a@ewg RomRo¢ (PMP) 20G3ed ?
1) 2030 100 [RET 083X (oodad%)

93.

;‘) VBN TFeas o
(2)  TDODOMIEITIALOTON  BBOPFAVL
TOBOT FBoeeww Q08
(3) TOTIWITOO NERWTOTIG €T
(4) QY TS WTRINY, m—-’%mﬁ
94. 0TI 3T Bosd oD Jeadnwhd woved
IeTiewy DBCRBWNT. ALl TovbnTm]
GORDATRG RSy BRI W
BMOROSTT

TOFOTO R
RRe23T BReS
SRV 3Re

(D
(2)
3

o3,
3903,

& &

(4) 2PN 3R

(30-A)



88. Fine aggregates are those which pass and

92. Duration along the critical path defines

retain on which of the following sizes of which of the following ?
IS sieves respectively ?
A. Shortest duration needed
(1) 6mmand 75 n
(2) 475 mm and 75 u B. Shortest duration permissible
(3) 75 pand 475 mm C. Longest duration needed
(4) 10 mm and 4-75 mm D. Longest duration permissible
Select the code for the correct answer
89. According to Nagpur Plan, Indian roads from the options given below :
have been classified into how many
categories ? (1) AandBonly
1) 4 (2)  AandD only
(2 5 (3) B and@ only
@ 6 N
(4) D only
4 7 é 3
93. W(@t is Probable Maximum Precipitation
90. If the temperature of a rod of length L is '{?&P’MP) ?
increased by T°C, whose coefficient of {;? . o
linear expansion is o and Young’izg} (1) Projected  precipitation ~for a
modulus is E, then free expansion o 100 years return period
rod due to increase in tempera is 9 U limi ¢ fall th .
given by which of the dfollowing (2) pper limit of rainfall that 1s
expressions ? ,‘Q justiﬁed climatologically
(1) oTEZ2L {Z:} (3) Effective precipitable water
2)  oT/L é (4) Maximum precipitation for all
@) oT/E recorded storms
(4) None of the above
94. Taylor’s stability number curves are used
91. In the critical path of construction for the analysis of stability of slopes. The
planning, free float can be angle of shearing resistance used in the
chart is the
1 Greater than the total float
(1) Greater than the total floa (1) effective angle
(2) Equal to the total float (2) apparent angle
(3)  Greater than the independent float (3)  mobilised angle
(4) weighed angle
(4) Less than the independent float
269 (31-A)
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83 BeYIRYRY BONBR -

FITIQODL TODS WMD) TRTD
TRTLO LT LRI WIRZTV.
2,000 FIRYOD 00D LIBE[Y
PO TIRFHEAELIT DI, WIROTT.
2,00 FIIQOD VFRFFONT), BRB
TRTLO BoWONEIT R WIRIZTO.
33 B0eDT BewFNTA, odneyey) <O ?
Qe@DOT  So3AYY, FOSRT  LUBTHN
ROBeSBTOR :

(1) AN B IR,

(2) B33 C =R,

(3) A C TN,

4) A BRRC

A.

WOl RWIOB TZ 8ahSSeT WY

B3 ono 5m e, eod @Qﬁ%
8%, BrDBE, SRHTNDIS ? &

4

(1) 125m AN
(2) 2m é‘Z}"\
(3) 225m

(4) 175 m

Ne0S0 BRTBOI 2303¢° [eed 03y 5/3
N33, LT, IFB 3B Vedort')
By STFHIRMDEID TP OTLD DR TeIed) ?
0-16

0-30

0-48

(D
(2)
3

98.

99.

O
D

100.

(4) 062

(32-A)

00T AeT3D 0deeRdTahY), 200w BT
SRETY, 05" ) TeADY, B)chodwer
300t BBeINWD ZD@N 60% D)
46% NYR). ed 2T PATYH) D)
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03eR30De) €3 TRET NeTRO SeZ0dw

(1) 126%
(2) 80%
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3R 0L, aomgag S AW

SRTBT 2
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(2) 075 3=€

(3) 025 e

4) 33 @eriv
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23 SR APy
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]
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3
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Consider the following statements :

A. Pitot tube is used for measuring

velocity of flow in the pipe.

B. Mamometer is used for measuring
fluid pressure in a pipe.

C. Venturimeter is used for measuring
discharge in a pipe.

Which of the above statements are

correct ?

Select the code for the correct answer
from the options given below :

(1) A and Bonly
(2) B and C only
(3) A and C only
(4) A,BandC

é
For a hydraulically efficient rectar%i@
channel of bed width 5 m, the h ulic

QY
\
N

radius is equal to

(1) 125m
@ 2m <$$§
(3) 225m
4) 175m

If the channel index at an irrigation
outlet is 5/3, ‘setting’ of an orifice type

outlet in order to have proportionality is

(1) 016
(2) 030
(3) 048
(4) 062

98. In an irrigation project, in a certain year,
60% and 46% of the cultivable command
area in Kharif and Rabi respectively,
remained without water and rest of the
area got irrigation water. The intensity of
irrigation in that year for the project was

(1) 126%
(2) 80%
(3) 124%
(4)  94%

99. A 1 m thick layer of saturated clay,

drained oth faces, settles by 10 cm in
one @ If a thin layer of pervious soil
i in the middle of this
{:@yer, then what will be the period during

. which the settlement of 10 cm will be

O
D

is Antroduced

compacted ?
(1)
(2)
(3)
(4)

2 years
0-75 years
0-25 years

3 years

100. Which one of the following states of field
of
the
penetration test value :
N (corrected) = 12 ?

compaction sand deposit truly

represents corrected standard

(1) Loose
(2)
(3)

(4)

Medium dense

Dense

Very dense

(33-A)
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